202559 TOIXIETYU—F (LOHRETU—F) BERR

IPRERIIEZLEADI2:00&20: 0ICEHFLTWLWET ., EHOBRITIBRICHEESELESLY, TEL : 0175-28-1125
SFHE1rAMEYSHLTHBYET, CPUOBETERMICEERNE CHBEC LA L—XIZCFIHETETOTBEIES L,
B-EAPENHIBAE. DR CERLTVET., ZHOEMATHARGBARLLAYETOTHIHRIOEV LS SELVRLET,

9:00 10200 11:00 12:00 13:00 14:00 15:00 16:00 17:00 18:00 19:00 20:00 21:00

AMAVTFY—FA
(2 VF7Y)—4B
£ Br=E1
ZEMNE2
£ Hr=E3
Sv=y¥a—2x
SN
RILFEY >

2 VFIV—FA
*427)—FB

ZEMNE]
£ HME2
ZHrI=E3
Syv=—v45a—=x

IIUT L
BRILFEY >

X

*MTFIV—=TA
*427)—FB

Z Hr=1
ZHM=E2
ZHM=E3
Sv=—v45a—=x
IIUT L

2T —
*AF7)—+B
| #F7u—F |

ZEMNE]
ZEMNE2
ZEME3
Syv=yvJa—=x
SN

RILFY H=E

2 TFIV—=TA
*427)—FB

ZEHME]
ZEHME2

ZHMES [ ]
Sy=v45a—k

e~
RILF Y 2

*MFIV—FA
*42F7IV—4B

ZEM=E]
ZEME2
ZEME3
Syv=v5a—2x
SN

N OPYE |

2 TFIV—=FA
*427)—FB

Z2EHH=E]
Z2EHM=E2
Z2EHM=ES
Sy=y45a—=Xx
IIUT L

RLFY T | | |

*MFIV—FA
*MF7YY—FB

EA=IRES
ZEME2
ZEME3
Sy=v45a3—x

SN

A5y -

MYTFIJ—FA
A VF7Y)—FB

ZHME]

10

7K

RS S




1

12

Syv=v¥a—2x

BT >

13

A TFIV—FA
*427)—FB

ZEME]
ZEME2
ZBEMES

Sv=—v45a—=x

RILAY 2

14

*MOF7IV—FA
*42F7Y—4B

ZEHME]
ZEME2
ZHEMES

Syv=yvJa—=x

RILAY >

15

2 TFIV—=TA
*427)—FB

ZEME]
ZEME2
ZEMES

Sv=—v45a—=x

RILAY 2

16

*MFIV—FA
*42F7IV—4B

ZEHME]
ZEME2
ZEM=ES

Syv=v5a—2x

RILEY >

17

K

r*M 2

10:00

11:00

12:00 13:00 14:00 15:00 16:00 17:00 18:00 19:00

7V—TA |
*427)—FB

ZEHME]

ZEHME2

ZHMES

Sy=y45a—=Xx

R T=E

18

*MFIV—FA

*42F7IV—4B

ZEHME]

ZEME2

ZEMES

Syv=v45a—=x

BT T=E

19

2 TFIV—=FA

A VF7Y)—FB
Z2HME]

E A= EV)

% HH =3

20




9:00 10:00 11:00 12:00 13:00 14:00 15:00 16:00 17:00 18:00 19:00 2000 21:00

21

ATV —FA
A2 F7Y)—FB
YIF7IV—F
ZEMNE]

E A= E )
ZEMNE3
Sy=v45a—X
s N

BT T=

22

ATV —FA
A2 VF7Y)—FB
HYI7IV—F
£ H=
ZEHM=E2
£ HR=E3
Syv=v¥a—2x
SO IN

23

AA VT ) —
A2 F7Y)—FB
YIF7IV—F
Z Hr=1
ZHM=E2
ZHMI=E3
Sv=—v45a—=x
ERRIN

R T=E

24

K

M OFIT—FA |

A2 VF7Y—4B

$I7)—+
ZEMNE]
ZEMNE2
ZEME3

Syv=yvJa—=x
SN

L2 A I T —

25

AMTFTU—FA

(¢ F)—FB
$I7IU—F
ZEME]
ZEME2

ZEMES

Syv=yv4¥a—2x

SN

R T=E

26

XLUF)—FA - 1 1 |

*42F7IV—4B

YIF7U—F T —

ZEHME]

ZEME2

ZEM=ES

Syv=v5a—2x

SN

RILEY >

27

2 TFIV—=FA

*427)—FB

¥I7U—F

ZEHME]

ZEHME2

ZHMES

Sy=y45a—=Xx

SN

28

27—

*42F7IV—4B

$I7U—F

ZEHME]

ZEME2

ZEMES

Syv=v45a—=x

SN

BT T=E

29

2 TFIV—=FA

A VF7Y)—FB

¥I7U—F

ZHME]

E A= EV)

% HH =3

Sy=>4a—=Xx

TIUTL

RIS

30

27—

*MF7YY—FB

$IF7U—F

ZEHME]

ZEME2

ZEMES

Sy=y45a—=x

SN

RIS S




